bon 7 Semi

20/

——

V‘)l 7
X [This question paper contains 7 printed pages.]
5776 Your Kol No. s
B.Com. (Hons.) /I D
Paper I — BUSINESS ORGANIZATION AND
W MANAGEMENT [A-101]
) (Admissions of 2004 and onwards)

Time : 3 Hours oo Maximum Marks : 55

(Write your Roll No. on the top immediately
7 on receipt of this question paper.)

Note .~ The maximum marks printed on the question paper
are applicable for the candidates of regular colleges
for the B.Com. (Hons.). These marks will, however,
be scaled up proportionately in respect of the
students of registered with the School of Open

, Learning, at the time of posting of awards for

-

compilation of result.

Note :— Answers may be written either in English or in Hindi;
but the same medium should be used throughout the
paper.

féwﬁ:—wm—wwma%ﬁm@aﬁﬁﬂ#ww

¥ e AfT @ IER @ AT ve & 81 IRy

P.T.O.




5776 2

Attempt all questions.
All questions carry equal marks.
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1. (a) India has profited immensely from the services
‘led growth in recent years”. Is it possible to sustain
the services-led growth in the years ahead ?
Explain. &)

(b) What is manufacturing sector ? Describe the
various problems faced by manufacturing sector
in India. (6)

OR

(a) “Network marketing offers a low risk, low cost
business opportunity that is open to everyone.”

Critically examine the statement. (5

(b) “Franchising is a way to expand business for
reputed companies.” Do you agree ? Why or why
not ? (6)
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2. (a) Explain the marketing concept. Outline its

importance to a modern business enterprise. (6)

(b) What is plant layout ? Discuss the objectives and
| a- advantages of a good layout. %)

OR

(a) “Profit maximization is not an operationally feasible

criterion.” Comment. (5)

(b) Briefly explain the steps involved in hiring human

resources in an organisation. (6)
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(a) Briefly discuss the various considerations which

affect the location of a business unit. (5

(b) Discuss the need for training. Briefly discuss
various off the job training techniques employed

by an organisation. (6)
OR

(a) Explain the systems approach to management.

Discuss briefly its merits. (6)
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(b) Discuss the contributions of Peter Drucker to the

development of management thought. (5)
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4. (a) Explain Diversification as an internal growth

strategy. What are its advantages and limitations ?

(6)

(b) What is project organisation ? Discuss its merits.
Enumerate any three business activities where

project organisation is best suited. 5)
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OR
(a) Explain the nature and significance of informal

communication in an organisation. (5)

(b) What do you mean by managerial grid ? Explain

its importance. (6)
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5. (a) What is resistance to change ? Why do people

resist change ? (6)
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(b) Briefly explain what you mean by Knowledge
Management. (5)

-OR

(a) Write short notes on :

Theory X and Theory Y. (5)

(b) Explain the significance of Corporate Governance.

(6)
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